Intermediate 2


UNIT 2

PRACTICE ASSESSMENT 1
[image: image1.wmf]
Outcome 1

1. a)  Calculate the area of the triangle shown in the diagram opposite.
b)  Calculate the length of AB. 

Do not use a scale drawing.
[image: image2.wmf][image: image3.wmf]
2. [image: image4.wmf]The diagram opposite shows the position of three

holes to be drilled in an aluminium template.

Calculate the distance between the points Q and R,

giving your answer correct to 1 decimal place. 

Do not use a scale drawing.

Outcome 2

3. The diagram below shows the line x + 2y = 7.
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a)  Copy the diagram and draw the line x + y = 3.

b)  Use the graph to solve the system of equations:      x + 2y = 7






                                   x + y = 3

4. Solve, algebraically, the system of equations:     3x + 2y = 14
   2x – y = 7

Outcome 3

5. The tyre pressures (in grams per square millimetre) of a heavy lorry are checked and found to be:
59     51     56     63     51     62     66     63     60     48     63     55

      a)  Find the maximum, minimum, median and quartiles of the data set.  


      b)  Draw a box plot to illustrate the data.
6. Holidaymakers were asked in a survey “How do you get across to the continent?”
The table shows the results.

	Mode of transport
	Eurotunnel
	Hovercraft
	Ferry
	Plane

	Number of holidaymakers
	120
	90
	75
	15


Draw a pie chart to illustrate these figures.

Outcome 4

7. These are the temperatures in five places in Scotland at noon one day.
Aberdeen            2(C

Glasgow             9(C

Eskdalemuir       5(C

Strachur            11(C

Ullapool             3(C

Calculate the sample standard deviation, correct to 1 decimal place. 

Do not read the standard deviation directly from your calculator.

8. A police inspector compares the number of drivers fined in court for speeding in one week (F) and the number caught speeding the following week (S).
	F
	  0
	10
	10
	20
	36
	44
	48
	56

	S
	44
	42
	34
	26
	18
	12
	  2
	  0


      a)  Plot a scatter graph.  

      b)  Draw your estimate of the line of best fit on the graph.

      c)  State the equation of your line of best fit.

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	



      d)  If 40 drivers appeared in court in one week, use your equation to estimate how many  

            will be caught in the following week.

9. A day for a meeting is selected at random from September.
	SEPTEMBER

	SUN
	MON
	TUE
	WED
	THU
	FRI
	SAT

	
	
	1
	2
	3
	4
	5

	6
	7
	8
	9
	10
	11
	12

	13
	14
	15
	16
	17
	18
	19

	20
	21
	22
	23
	24
	25
	26

	27
	28
	29
	30
	
	
	


What is the probability that the day selected is after the 20th?
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